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Read and remember: g\-‘ G Jj’
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Answer the following questions in the negative using (.J
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Answer the following questions in the negative using L’;j:

LTl = LT
Both mean 'I have not yet written!”’
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The verb following \.J may be omitted. So in reply to the question ¢& y‘ cr )\ one may just
say & (not yet).
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Fill in the blanks with suitable verbs:
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Draw one line under the {13 and two lines under the > and
vocalize both of them:
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Point out the (...o\ cJ:e and .JJ:- in the following sentences:
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You have already learnt the use of @“W\ Note that ,;'}U\ is the
same as @W‘
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Examine the following:
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~ POINTS TO REMEMBER

In this lesson, we learn the following:

1) The use of (.J It is a negative particle. It is used with the mudari. It brings about

two changes:
a) it turns the mudéri'into médiin meaning, and
b) changes the mudéri'from marfii'to majzim, e.q.:
_2J; ‘He goes.’ - LAk (.J ‘he did not go.’
The endings of mudari majzim.

a) The gammah of the third radical is omitted in the four forms:

L@-Lg — w-b FJ ya-dhhab-u — lam ya-dhhab
Laks > Laki )  ta-dhhab-u — lam ta-dhhab
Cadl 5 Ladfad  a-dhhab-u — lam a-dhhab

LAk Lak ‘.J na-dhhab-u — lam na-dhhab

b) As in the mudéri' mansdb, the nin is omitted from the following forms in the

mudari' majzdm also:
M»U s as"“" @J ta-dhhab-fna — lam ta-dhhab-i
dj-b-b — \}iz-b H ta-dhhab-ina — lam ta-dhhab-ii
O yadi — 1 5ad; o ya-dhhab-Gina — lam ya-dhhab-a
c) The two forms u—-M-g and ‘_,-Jb-b remain unchanged:

Lbds s ‘_,.A-\g P“ lam ya-dhhab-na
(kdd =5 ad3 3 lam ta-dhhab-na

Here are some examples of ('5

oyt 1 431 31 did not understand this lesson.”
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3t o)y ‘w22 'Did the new students attend?”

AR 5 tsilo
.

N 9 224 o3 ¥ 'No, they did not attend.’
A JI Lerds o <)l *The female students did not go to the library.”

If Cad—; (LAl (L3l (LA are followed by Aamzat al-was), the last letter takes a

Aivs o

kasrah to avoid oS bl sl | e.g.:
L N LSS o1 'Did you not write the letter? (a lam taktub-i-rrisélah?)
OT 80 et ladod (.5 ‘The female student did not memorise the Qur’an.’

2) WJ: It is also a negative particle, and is used with the mudéri’ It acts exactly like

;J. It means ‘not yet’, e.g.:

- -
w7 0

838 a1 W T have not yet taken coffee.’

¢-<-‘)—U & Oyl J>4 Wy Faith has not yet entered into your hearts.” (The
Quran 49:14)

H/" Ly (i o & &3 My father went to Makkah, and has not yet
returned.’ :

After \-J the verbs can be omitted, e.g.:

‘Q%}EJ\ Cf" ‘Have the students gone out?’
i, ‘Not yet’, i.e. ! }}q i ‘They have not yet gone out.’

3) Parts of speech: in Arabic there are only three parts of speech:
a) nouns (;.i«:}!\), like: JJ A (R c;.ke (S
b) verbs (ijiﬂ\), like: U«J cuff; cf.,.?;{; cu.f
c) particles (U};vj‘), like: _p 4;,_8/ c(.aa N b

4) Nominal and verbal sentences (3—;13-65‘ g\—l-éd\) g-f-o:»‘zl\ M\): This has been

- -

explained in Book 3.
5) S\ means ‘slowly please, don't hurry.’

6) LS Y ;.13 &4s T have neither pen nor book.’
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Here are some more examples:

e Wy sl &M & L 'There is neither water nor juice in the fridge.’

ANy, = (& & There is neither riyal nor girsh in my pocket.”

JU-“-«»‘ reception e : C ;“-«o‘ take rest!
ZJ"‘"’) president ' g?\-z g‘ (a—ri) to come
5,5 difference ‘ k’ . go‘W\ = ém
:J\—o example o £ s forbidden

Z

Nga slowly, please don't hurry }‘;a,,_“.rv (a-u) to-attend
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